The above no mu doc	o/skpl/22-23/000209  Ist appear on all challans, invoices and all cuments relating to this PO.  ENUS INDUSTRIES /Z-1, Basai Road, loti Nagar, ew Delhi-110 015 (India)		Quot	Order Date : notation / PI No: ation / PI Date : Department:	Mail  Lucknow  SEMOLINA KITC	CHENS DDIVATE			
To:  VE W M Ne Tel: 93 Fax: Contact Person: M	ENUS INDUSTRIES /Z-1, Basai Road, loti Nagar, ew Delhi-110 015 (India)		Quot	ation / PI Date : Department:	Mail Lucknow SEMOLINA KITO	CHENG DDIVATE			
To:  VE W M Ne Tel: 93 Fax: Contact Person: M	ENUS INDUSTRIES /Z-1, Basai Road, loti Nagar, ew Delhi-110 015 (India)			Department:	Lucknow  SEMOLINA KITO	CHENG DDIVATE			
To: W M M Ne  Tel: 93  Fax: Contact Person: M	/Z-1, Basai Road, loti Nagar, ew Delhi-110 015 (India) 310395663			·	SEMOLINA KITO	THENIS DDIMATE			
To: W M M Ne  Tel: 93  Fax: Contact Person: M	/Z-1, Basai Road, loti Nagar, ew Delhi-110 015 (India) 310395663		ı	Billing Address :		THENS DDIVATE			
Fax : Contact Person : M					SEMOLINA KITCHENS PRIVATE LIMITED				
Contact Person : M				Tel:					
+		•		Fax:					
Mobile : 93	Ir. Narendra			Contact Person:					
	310395663			Mobile:					
Email: gir	rish_c@venusindustries.in			E Mail:					
GST No:	07AAMFV4652R1Z8			GST No:					
Pan No:	AAMFV4652R			Pan No:					
We are pleased to c	confirm to provide the material/services as pe	r details given below.P mentioned below.	lease arrang	e to supply as pe	er the delivery pe	eriod and the terms			
Sr. No	Item	Specp	иом	Qty	Rate	Amount			
1 AP	PSPOON	Venus 105 18/10	Nos	432	₹ 45.60	₹ 19,699			
2 50	DUP SPOON	Venus 105 18/10	Nos	240	₹ 45.60	₹ 10,944			
3 AP	PFORK	Venus 105 18/10	Nos	432	₹ 45.60	₹ 19,699			
4 TE	EA SPOON ( For Desserts )	Venus 105 18/10	Nos	240	₹ 38.00	₹ 9,120			
5 AP	P KNIVES 3 inch blade	Venus 105 18/10	Nos	96	₹ 64.80	₹ 6,221			
6 Co	offee Spoon	Venus 105 18/10	Nos	240	₹ 27.60	₹ 6,624			
				Basic Amount		₹ 72,30			
ERMS & CONDITIO	NS			Discount in % o	r Amount	₹ 0.0			
				Subtotal after o	liscount	₹ 72,30			
			Packaging & Fre	eight	₹				
Payment Terms: 10	00% Advance with GST alonge with Purchase of		IGST/CGST/SGS	T @ 12%	₹ 0.0				
				IGST/CGST/SGS	T @ 18%	₹ 13,015.3			
				GRAND TOTAL	₹ 85,32				
mount in words: Ru	upees Eighty Five Thousand Three hundred T	wenty Two Only							
SPECIFIC TERMS & C	CONDITIONS								
Warranty : 12 Months Warranty against manufacturing defects									
Delivery : Im	nmediate								
or SEMOLINA KITC	HENS PRIVATE LIMITED								
	Prepared By	Approved By			Auth	norised By			

### **GENERAL TERMS & CONDITIONS**

#### Definations

GOODS shall mean the materials, products or services to be purchased or to be supplied as specified in the PURCHASE ORDER and/or any part thereof.

PURCHASE ORDER shall mean the PURCHASE ORDER form, this document and any other document listed herein and shall constitute the entire agreement between the parties. SUPPLIER shall mean any person or company having a contract for the supply of GOODS to PURCHASER.

#### Price

The price along with other terms & conditions as mentioned in the above Purchase Order herein shall be binding to the seller.

#### Delivery

#### **Documents**

The challan / Invoice should provide full particular of all articles with purchase order no. Obtain receivers signature and rubber stamp and attach copy of same with bill/invoices

### Warranty

SUPPLIER warrants to PURCHASER and its clients that the GOODS shall comply in every respect with any specifications, drawings and other data forming part of the PURCHASE ORDER and shall be free of defective materials or workmanship and is complete without any omissions. SUPPLIER shall be fully responsible for making good immediately upon being notified by PURCHASER any omission and defects in the GOODS or any portion thereof which may appear or occur during the warranty period

SUPPLIER shall ensure that the warranty is directly extended to the PURCHASER and, at the PURCHASER's option, the PURCHASER may exercise any of the warranty herein directly against the manufacturer of the GOODS and its agents.

SUPPLIER's liability hereunder shall extend to all damages directly cause by the omissions or defects, including incidental damages such as removal, inspection, costs of return or storage. SUPPLIER shall not be liable for any indirect, remote or consequential losses.

#### License & Permit

If execution of the PURCHASE ORDER requires any license or other permit issued in the country of shipment and/or origin, the PURCHASE ORDER shall be conditional upon such license or other permit being available at the relevant time. SUPPLIER shall be fully responsible for obtaining the necessary license and permit.

#### Confidentiality

Any PURCHASE ORDER placed by the PURCHASER including all accompanying designs, drawings, specifications and information which may be treated as confidential and in particular the SUPPLIER shall not make use of the PURCHASER'S NAME or the name of any companies associated with the PURCHASER for publicity purposes without the consent of the PURCHASER.

#### Insurance

SUPPLIER shall effect and maintain at its own cost, all applicable insurances as required by law and to cover SUPPLIER's responsibilities and liabilities under the PURCHASE ORDER. Nothing contained herein shall serve in any way to limit or waive SUPPLIER's responsibilities or liabilities under the PURCHASE ORDER.

# Safety

Where a service is being provided on property occupied by PURCHASER, SUPPLIER shall be responsible for the safety of all persons engaged on the work, and all persons who may be affected by activities of SUPPLIER and shall comply with all PURCHASER's safety regulations and procedures.

# Waiver

Any waiver by PURCHASER to any breach of the PURCHASE ORDER shall not constitute a precedent nor bind the parties to any subsequent breach by SUPPLIER.

# Force Majeure

Neither party shall be liable for any failure to fulfill any term of the PURCHASE ORDER if fulfillment has been delayed interfered with or prevented by force majeure. Force majeure may only be involved if the event preventing the fulfillment is due to no fault of the obligor, is not for his risk and has occurred since the obligation came into being.

# Liability &

# Indemnity

SUPPLIER shall be responsible for and shall indemnify PURCHASER from and against all claims, proceedings, demands and causes of action in respect of any damage, loss or injury (including death) to any person or property arising out of SUPPLIER's negligence, acts or omissions, without regard to whether any negligence, act or omissions of PURCHASER contributed to such injury, death or property damage.

# Change

PURCHASER reserves the right at any time to make changes in the PURCHASE ORDER or any part thereof.

No change to or modification of the items, specifications, terms, conditions and prices appearing in the PURCHASE ORDER shall be binding upon PURCHASER unless expressly agreed in writing by PURCHASER. SUPPLIER shall promptly notify PURCHASER in the event that any GOODS subject of the PURCHASE ORDER are affected by changes in drawings, specifications or design, but SUPPLIER shall not without prior written consent of PURCHASER incorporate any such changes in the order.

# Acceptance

In the case of GOODS delivered by SUPPLIER not conforming with the PURCHASE ORDER whether by reason of not being of the quality or in the quantity or measurement stipulated or being unfit for the purpose for which they are required, PURCHASER shall have the right to reject such GOODS within a reasonable time of their delivery and inspection and to purchase elsewhere and to claim for any additional expense incurred without any prejudice to any other right which PURCHASER may have against SUPPLIER. The making of any prior payments by PURCHASER shall not prejudice PURCHASER'S right of rejection.

# Termination

In the event of any breach of any of the terms and conditions of the PURCHASE ORDER including failure to deliver by the due date, then PURCHASER without prejudice to any other rights, may terminate the PURCHASE ORDER and may return GOODS previously supplied under the PURCHASE ORDER for full credit by SUPPLIER. In the event of termination due to non-delivery or non-acceptance due to SUPPLIER's breach of the terms and conditions hereof, SUPPLIER shall undertake to reimburse all monies paid by PURCHASER prior to the date of termination including all direct costs and expenses incurred by PURCHASER arising from or in connection with the termination.

Ahmedabad - Cutlery				Venus Industries		ustries MRP	Venus Industries MRP ON Less 30%		Final Rate Venus Industries		
Sr. No	Item	Specifications	иом	Qty	Rate	Amount	Rate	Amount	Rate	Amount	Remarks
1	AP SPOON	Venus 105 18/10	Nos	432	82.00	35424.00	57.40	24796.80	45.60	19699.20	
2	SOUP SPOON	Venus 105 18/10	Nos	240	82.00	19680.00	57.40	13776.00	45.60	10944.00	
3	AP FORK	Venus 105 18/10	Nos	432	82.00	35424.00	57.40	24796.80	45.60		As we have procured Venus make & Modle cutlery Sinces the bigining of operations therefore
5	TEA SPOON ( For Desserts )	Venus 105 18/10	Nos	240	52.00	12480.00	36.40	8736.00	38.00	9120.00	the same make & Modleis been procure, to keep same athetics of stock at hand. 2. This perticudale model 132 of venus is only being
6	AP KNIVES 3 inch blade	Venus 105 18/10	Nos	96	108.00	10368.00	75.60	7257.60	64.80		procure for TCL Lounge. 3. Same Rate as per TCL Lounge
6	Coffee Spoon	Venus 105 18/10	Nos	240	35.00	8400.00	31.00	7440.00	27.60	6624.00	
			Basic Amount			121776.00		86803.20		72307.20	
			GST Am	ount : 18%		21919.68		15624.58		13015.30	
			Sub Total Amount		143695.68		102427.78		85322.50		

				enus Inc		•				•		
	Manufact	urers & Export						lotelware				
		WZ-1, Bas				i-110 015 (Ir	ıdia)					
			GSTI		FV4652R1							
ro, Mr. Santosh Sawant -Trivandrum ,				M/S Venus Industries Moti Nagar - New Delhi Merch:- Annubhuti						Quotation No:- 057 Dated:- 20.12.2022		
	T	Г				ı	1					
					List Price	Discounted				Grand Total		
S.No	Product	Image	Code	HSN code	(Rs)	price	Quantity	Total (Rs)	GST (%)	(Rs)		
1	Ap Spoon			821599	82	57.4	240	13776	18%	16255.68		
2	Soup Spoon	. 0 .		821599	82	57.4	120	6888	18%	8127.84		
3	Ap Fork	11120		821599	82	57.4	240	13776	18%	16255.68		
4	Coffee Spoon		105	821599	46	32.2	240	7728	18%	9119.04		
5	Tea Spoon ( For Desserts )	- 2 [30]		821599	52	36.4	240	8736	18%	10308.48		
6	Ap Knives			821599	108	75.6	120	9072	18%	10704.96		
T	1 10 1:::								Total	70771.68		
	s And Condition nent Terms: 100 % Advance											
	s as Actual	: 										
	ired Purchase Order To Pro	cood On With O	rdor Alono	Mith Tho	Advance							
	sportation Charges Extra Or		ruei Along	3 WILLI THE	Auvance							
	Time- 15-20 days	l Actuais										
	Details: Bank of India											
Dam	KIRTI NAGAR, NEW D	ELHI - 110015					1					
	in the name of M/s Ve											
Account no. 600830110000094												
	IFSC: BKID00											
	Bank Code: 110	0013016										
		1	l	1		ı	1	l				